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~ t s 57:: Complement clause with concomitant tense property
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Exercise 1 %EUD'&“(J‘JLLVC =1 %ﬁmaf_tﬁct’)

Repeat each sentence after your tutor

(F> WX "z "z

A B<LRIC (B33L / lmOFLLD).

my nrE .
B WERDIFBESS (2K /1 TI),

A EEE5 (&3 ZOOETH) ?

ey F .
B INHhBiahdECS (X /1 TI).
A E|2|Su ? (72 / TI1).
nuy

BERBAELTNBESS (RL / TY).

A BSRE—FOE & 2EET (W3 WETH) ?

B itﬁ I LTVBETS (L /1T,

A BEEEC BARL | BRETADY) ?

B (CHh | THEBA). BLSEBRTERESS (BL | TY).

A 0’1%1‘_?(:_ ('fTL_'Dct / ﬁ%ibc!: S)e

B 75;98:4737“ b\c‘:,._,\D_CL\ﬁ:tC’_B (&L /1 T9),

A WDIRS TR (D1 ATITH) ?

L

=)

B SlRoTEREDS (Rk / T,

Copyright © Since 2015 WASABI All Rights Reserved



BSATVNA LY S

XER B

<3< > BAEWLY ANA U

Exercise 2 ZEAZIEH T, TE(OREZLLD.

Fill in the blanks and respond to your tutor
By & (=51 AN o

(=) oH(C ;ﬁb\ﬁ%iﬁ'&(ij—f L0 H/ (c_ Z__C <TEE0N,
Modify (word = ) in place and answer him or her if any.

TP VX

ABCRC (F35L / BhELLS).

‘_' nre w
BUWLWE (FDiFd—) EZB (k1 T9),
AGEERES (kD3 ZDOETH) 2
- FO .
B oNH5 (BsHh3—) ECB3 (B TH).
A BXRER L E (2R TIR).
- L AAEES .
B 2 (%55 93-) ECB3 (B TH).
A 1—357\6—5&@%% (iﬁﬁ%‘c (WD /7 WEIhHh) ?
y
B =2 (BEv3-) £33 (B TH).
[6X-) Wo L& 7= 7=
A BEEEEC (BARL | BAEEAD) ?
,_' =
B (Cohh | THELA). BLSE (BRTLB>) ECB (& T,
A 1:;(; (174_'33: / ﬁé\‘ibct S5
ey T BE "
B 5&5&E1TERVE (BS-) EZB (k1 T9),

A VWDRSTERE (@1 ATTH) ?

-—' \F3 "X n
B % (JgoTL3>) &EZTB3 (ELK /1 TY).

.
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Exercise 3 _FOD.:.%%ED T, ZBECESEZULELD

Respond to your tutor with the following word(s)

)

A EEE> (&3 BOOETH) ?

ny
£ EALZ  Lsd 3 .
A BAREN £ F (2R / TIN).
y

A BSRE—FOE & ZEET (W3 WETH) ?
y

VB LoLs = e
A BBZ—HEIC (BNRLY /| BRFEAN) ?

nyr
A W 1:‘_?(; ('fTL_jct / ﬁ%ib&: 35),
el

A m'_)') ’D_C§E7T_ (D ATIH) ?
=y
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